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o FUAT AR Y foh 58 99T 97 A Al Iso Tear 7 7 8 3 387 26 WA &

Please make sure that the printed pages in this question paper are 7 in number and it contains
26 questions.

o TR TRe T 3T AT YE ol A Tgol ST sheTeh [T glam|
Before beginning to answer a question, its Serial Number must be written.

o 3T 3R YR H Wlell ol / Goed o DS

Don't leave blank page/ pages in your answer-book.

o STR-GIEART & ITARFT IS 317 e 7ET & S| 3T: HaThcaR & fod g for
3 Pl o FIC|

Except answer-book, no extra sheet will be given. Write to the point and do not strike the
Written answer.

o  TETAT HYAT Aol e IR TF IR 3T o |
Candidates must write their Roll Number on the question paper.

o FUAT YA T 3R ol ¥ Yd I AR X o foh T g7 T HET &, TRI&T oh IRl 36
T H F13 37 g1ar TR 18T fhdT ST |

Before answering the questions, ensure that you have been supplied the correct and complete
question paper, no claim in this regard, will be entertained after examination.

AT fAer:

(i) T o2t ATy

(ii) aEGfss geait & Fer fashey fordd |

(iii) Icdeh A & 37eh 3Th ATHA T AT & |
General Instructions:

(1) All questions are compulsory.

(if) Write the correct option in objective type questions.
(iii) Marks of each question are indicated against it.
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Ts-F
Section A
50 @3 & Wl Wt 1-1 3 & 1 §9 &S &F Fel 3% 10*1=10 §
All the questions in this section carry 1 mark each. Total marks of this section are 10*1=10.

%, 1. Pt 3 & frg spiedaT & Aa sEie &t IR B ¥ - AT s
AT FATST IR g2l &I TAg & o Gaeil I TN 3eqg=T 8"

Q1. Which of thefollowing geographer has defined human Geography as - “Human
geography is the synthetic study of relationship between human societies and
earth’s surface”.

3. Ans
A dier fasTel 31 o samer  Paul Vidal de la Blache
B Ueld d 4&qal Ellen C. Semple
C s ead Friedrich Retzel
D = RexX Carl Ritter

9. 2. i@ & & #l a1 "Aa [ewra gaeie w1 3ueH FE 82
Q2. Out of following which one is not an approach of “Human Development Index”?
3d¥. Ans.

A 3T 34ETH Income approach

B heIIoT 3UTITH Welfare approach

C goldH SIWd 39IRTH Minimum needs approach
D Ysiamdr 3unrH Capitalist approach

9. 3 Fefaf@d & & 5T 9R & 36ANT 3T 3N & I Fod AT & 36T I 67
Q. 3 Which one of the following types of industries produces raw materials for other
industries?

3 Ans
A FER e Cottage Industries
B org 31T Small-scale Industries
C YAACY/3MRST 3¢A9T  Basic Industries
D Tatoeg S3%cial Footloose Industries

9. 4. FAH O HlA A7 AT IRAR HRA H 9HT 72

Q.4. Which of these language families is predominant in India?

3d¥ Ans
A H-fasad Sino-Tibetian
B gfas Dravidian
C 3iifee® Austric
D #Ra-gU4 Indo-European
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9. 5 2011 &I SANUEAT & 3[R R & fhd Tog A S0ET 1 98 A fear g2
Q 5. Which of the following state of India having the lowest share of population as
per 2011 Census?

3d¥ Ans
A. nar Goa
B. 31SUTIS Ucer Arunachal Pradesh
C. Rifgwa Sikkim
D. BAqr Tripura

9. 6 fArfaf@d & ¥ i @1 o AT 872
Q. 6 Which of the following is a mining town?
3 Ans

A SIREr Jharia

B AR Srinagar

C 3fclvTg Aligarh

D Hder Satna

T. 7 ARG IS ASTATIT AITIOT (NHAL) &7 TaTeret foha ay & fomar arar ar?
Q 7. In which year was the National Highways Authority of India (NHAI) operationalized?

9. 8. HRd & FHl U TUEC/TYAIGY FGWNE HI ATH Tdsd?
Q.8 Name any one landlocked port of India?

T. 9.ﬁmﬁﬁamuﬂnéwwﬁaﬂm§vﬁﬁmﬁwﬁﬂﬁﬂ%‘rmww
hforr |

Q- 9 Considering the following assertion and reason, select the correct answer from the given
options.

HAAFYT (A): TAT 9T H FY ALY JaqT E|

Assertion (A): Agriculture is the main occupation in rural India.

FROT (R): %R & AT a5 7 3myferss se@eh 3R danst a uga AffT &

Reason (R): Rural areas in India have limited access to modern industries and services.

3<X. Ans.

(A) ATAFRYT AR FROT gt T §, 3R FROT 31fAFUA Fr Tgr e g

(a) Both Assertion and Reason are true, and Reason is the correct explanation of Assertion.

(B) 31fRysT 3R FRUT gl T &, Afhed FROT, ITAFUA T TE IrET AT ¢
(b) Both Assertion and Reason are true, but Reason is NOT the correct explanation of Assertion.
(C) 3fAFUaT T §, ofoheT HROT ITed gl

(c) Assertion is true, but Reason is false.

(D) HTAFHYUT Ield &, elfehel HROT T &

(d) Assertion is false, but Reason is true.
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. 10.mﬁmmﬁWmemyﬁﬁmﬁwﬁﬁﬁaﬁmww
Ho |

Q. 10 Considering the following assertion and reason, select the correct answer from the given
options.

HFDTA (A): 3MYfeh sEier # gdieror fafddrie # cades &9 & TR fohar ar|

Assertion (A): Environmental determinism was widely accepted in modern geography.

HROT (R): 3MYfesh $@Eiter qATaRoliT goAlfadl W & ae & #Aleld Fdadl AR dehsilehl FaraR @
SR &aT gl

Reason (R): Modern geography emphasized human freedom and technological innovation in
overcoming environmental challenges.

3. Ans.

(A) 31U AR HROT el T §, 3R HROT AR 1 FEr e gl

(a) Both Assertion and Reason are true, and Reason is the correct explanation of Assertion.

(B) 31y 3R FRUT el T §, AfheT HROT, AfRPUA T T AT 8T &

(b) Both Assertion and Reason are true, but Reason is NOT the correct explanation of Assertion.

(C) 31fFsua T §, difthed FROT 3167 B

(c) Assertion is true, but Reason is false.

(D) 3ifehaa Terd &, difthel HROT T &

(d) Assertion is false, but Reason is true.

Ts-g@
Section B
59 @3 & Wolt 9eeT 2-2 3F & 1 56 WS & Tl 3 6*2=12 § TeAeh TR T 30 20 W 30 erea¥ 7
aifsa e |
All the questions in this section are of 2 marks each. The total marks of this section are 6*2=12.
Answer to each question is required in 20 to 30 words.

9. 11 “Tr T 3 afda #ar §72 I8 areaner feae fear?

Q 11 What is “stop and go determinism” and who gave the term ?

9. 12. faSTel 3 o sl & 3FTEN AT 80 I IRHAT ST
Q.12 Give the definition of Human Geography According to Vidal de La Blache,.

9. 13. SAGEAT Uelcd Asg I IRATRT HIfFT|
Q13. Define the term density of population.

9. 14 #HG T H IRHAEA RIS
Q.14 Define Death Rate.

9. 15 SRRy ST & dde & TR Tt guyeal 1 Sead
Q. 15 What can be the possible impacts of consumption of contaminated / unclean water
on the people?
3ygar / Or
9. 15. flael ST 910 817 3R Fhol B &1 & AT AR A IRA™T HIfST]
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Q 15 Define the difference between Net sown area and Gross cropped area?
9. 16. TOR ¥ 3T FAT FHST 872
Q 16 What do you understand by communication?

3rygar / Or
9. 16 fgetols &1 31 Tasu|
Q 16 Describe the meaning of Hinterland.

s -9

Section C
59 @3S & W o 3-3 3% & §| 3 WS F FA 3F 6*3 =18 T TAF T F7 3 50 F 70 ereg
Hafdag |
All the questions in this section are of 3 marks each. Total marks of this section are 6*3 = 18.
Answer to each question is required in 50 to 70 words.

9. 17.7329 & grefior &9 & 3af¥e ORI Hr Fegr AT [FAYant & guia fifau]

Q17. Describe any three characteristics of periodical markets of rural areas in the world.

9. 18 Saaedr ATwie &I aRARNT fIfAT] 1951 & 1981 de ARG H JAAGEAT & dig AR & 3
qEY HRUN & Tose Hifau]
Q 18 Define the population explosion. Explain the 3 main causes of the rapid growth of

population in India from 1951 to 1981.

9. 19 #Rd & sl & [GdE W e gigred feoqoft difaw|
Q 19 Give a brief note on Evolution of Towns in India.

9. 20. "ofeg &1F ATl H T FIT FHASAT §, 3UGFd IS0 &A1Y ITlr 3R ford|
Q 20 What do you understand by “Target Area Planning” ,write down your answer with

suitable examples

q. 21. ARG & fAger sarar i ATt 1 3ea@ HifoT|

Q 21 . Mention the characteristics of India’s foreign trade.
3Yar/ Or

9. 21. "3 GO W v dfered feoqel faf@e)

Q 21 Write a brief note on “Atal Tunnel”.

9. 22 9 YGNUT & YW Hid & qU HIT]
Q 22 Describe the major sources of air pollution.
3ryar / Or
¥. 22 HRd A AW 3afse Auee @ o7 97T qAEnit # e RS
Q 22 Mention major problems associated with urban waste disposal in India.
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Ts-d
Section D
39 @3 ¥ Well oeT 5-5 3 & §1 3W WS F FA HF 35 =15 §| TAH TR T 3 150 A 170
U A AR |
All the questions in this section are of 5-5 marks. Total marks of this section are 3*5 = 15.
Answer to each question is required in 150 to 170 words.

9. 23 SF9EET 9RadsT & aRENT | FIEEAT W 3% YHIT Y 3SEI0 & 1T 305 Qi
"l Pl TIsC HIfST
Q 23 Define population change. Explain its various components with their effects

on population.

3ryar / Or
9. 23. T4 8 H STAGEAT & TIROT T FHIAT Hel arel [T AreAioen 3R Aiehics HRewt #
goier dIfTT|
Q 23 Describe the various social and cultural factors influencing the distribution of

population around the world.

%. 24. JelraE ARG F vERt F 9 F fegd fawor &)
Q 24 Give a detailed description about the types of tertiary activities.
3ryar / Or
v. 24 TdTE ¥ Fr §? A el $¥ 3R age f@afe & sarear fifsw)
Q 24 What is Subsistence Agriculture ? Explain Primitive Subsistence Agriculture and
Intensive Subsistence Agriculture.

. 25. RA H FEAIA & a6 1 A A F Fw & v e Ageaget wehfast
FT gTeleT fohar aram g7
Q 25 What are the important strategies for agricultural development followed in
the post-independence period in India?

3yar / Or
9. 25. ad Aol faera At aReNa #{? add Qwola asrd & dgrar ¢ & fow AafdesT
3R &7 quid HIfa|

Q 25 Define sustainable development ?Describe various measures for promotion of sustainable
development.
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gs-3
Section E
IE WS AT 14 A Falua ¢ | $H TS & T 3F 5 81

This section is related to map work. The total marks of this section are 5.

q. 26. IR & AT W [Ae=Ifaf@d 1 gfsu-
Q.26. Show the following on the map of India-

a) FYIHS - ollg 3D Wl ol &1 Mayurbhanj — An area of iron ore mining
b) 3HTEX HRTET gars 3MgsT Amritsar International airport

C) I &I YHY 3cdlceh g Leading Tea producing state in India
d) SIHRI FIFer a7 Bokaro Coal field

e) TAUTEIATH I8 Visakhapattanam Sea Port
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